R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-888 Masonite FG VG GLAZED (TrilenniumN\C - Drawings\TX-4689-92.dwg, TX-4692

VAV uj
-é"’“i\ - ‘:“2}11 X
S F il il £3 @
POWERED BY W 37.5" MAX. OVERALL SR IF 2 g B3
o FRAME WIDTH W i 84 o8 5°
‘ ~: i i e 20, zd
. ¥ fwiv Yo GE2
O :;Z '2 § g g 92 :zt‘z
DOOR COMPONENTS MADE IN THE USA ,}\»‘;}, 0 £ & §§ oo
4h s, 185 T 3% g
Itl&f...:f*:.? e ZOom
]l L 33 e u omn g o
Neades™ @ NG oy
o 98Z u
4 £me Ok
§ 345 a2
£ ads 2k
] ] § ag
lazed Fiberglass Door -
E Q@ b
5} 3 Fo
- = 8
O —
"NON-IMPACT" 2 2 -
[ 7] = Ly
INSWING / OUTSWING s 2 gs
5 O B
Q & I
¥ T =z
m w < o=
: 2 X T |yKS
i " L 3 o
< <~ w ﬂ}
o © B 2 S“ &
= = = N
EVALUATED FOR USE IN THE STATE OF TEXAS o @ & g o
The Glazed Fiberglass Door system described herein complies with the 2018 N
Infemational Residential Code (IRC), Sections R301 & R609 and the 2018 ‘5’3 %
Infernational Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 "
subject to the following conditions: S
O
1. Anchors shall be as listed and spaced as shown in the details. Anchor : o
embedment to base material shall be beyond wall dressing or stucco. S %
2. When used in areas requiring wind-borne debris protection this product is L8l |
required to be protected with an impact resistant covering that complies A ; (z)
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. gsl 6
3. Allowable design pressure requirements must be equal to or less than the S N E
design pressure rating shown in the design pressure chart, sheet 1 of this 5 2 |
drawing. 3
4. Conditions not covered by this drawing are subject to further engineering s
analysis. : : a5
B
N
S

Lt
TABLE OF CONTENTS <
SHEET# DESCRIPTION _
1 Typical elevations, design pressures & general notes — V ” CZ)
2 Door panel details X INSWING +40.0 -40.0 DATE: 4/27/17
3 Horizontal & vertical cross sections ScAlE NT.S.
4 Vertical cross sections X OUTSWING +45.0 -45.0 owo. Bve UK
5 Frame anchoring
cHK. BY:  LFS
DRAWING NO.:
TX-4692

sHEeT 1 oF 5

© zo17 RoW. BUILDING DONSULTANTS ING.



ui
Gkl )
HINGE STILE LATCH STILE S n 8 .
(LAMINATED WOOD) {LAMINATED WOOD) ;-%« % 2 8, B
. TOP RAIL FA S g% @ o
EXTERIOR 098" —=——= (LAMINATED WOOD) g7 i, @y g o7
] 2= Nrioin Lt EL5 ak
e = A ~ Buidd i)ig I
i $O§ 15 i b g 8a %%
o 20 ioi” 57 HE8 ok
3 N /X750 - S 2>m Q%
| i g i Z L Zow &b
. i J i l{if.i 4;2:5 ?w & 83 3 Eé
By N : s (T LA
1.63" —— 163" s §.8 g°
INTERIOR / &8 248 8
WOOD LOCK BLOCK DOOR SKIN £ gew g &
(21" LONG) \ s § 2
1"\ HORIZONTAL CROSS SECTION : P o gg
35.75" MAX. 2 £
PANELWIDTH — \2/ F
24.75" MAX
D.L.O. WIDTH
’ 3
GLASS BITE 5/8" =
[
<
/ — 1"NOMINAL GLASS THK. g |y
~ BACKBEDDING ) 2 |3 E
/10 /// = SEALANT /8 TEMPERED GLASS S |93
w / AR SPACE INTERIOR EXTERIOR ? &
<
-t\ =4 ) . B % 8
7 | ™~~—1/8" TEMPERED GLASS /@ 3 e
— & <
xX o o
o3 ALUM SPACER T
é £ ! _ m
25 C) GLAZING DETAIL 8
— Flush Glazi
i = X ush Glazing : ‘(j
< =
o = o5
K o S|®| o
Ly : o 3
o~ %’ é S
SEE HARDWARE . tlo o
/ TABLE FOAM CORE || 8
L
N \ LE ,E
/// DOOR PANEL . I
7 [« () Q.
/ - s o Q>
B o =
AN NEE
<
I ™~
BOTTOM RAIL /§ \\ N\ S| |°
2 (COMP.) - E
=z
———1.75" —=] oaTE: 4/27/17
MASONITE SAE: N.T.S.
VistaGrande Fush Glazed DWG. BY: JK
Fiberglass Door Panel R S CHK. BY:  LFS
THlennlum®3000 Series TRILENNIUM ("2 "\ VERTICAL CROSS SECTION DG T
DOOR SKIN: FIBERGLASS (0.085" MIN. THICKNESS) Endura Muttipoint Lock (3pt.) SERIES 3000 MULTIPOINT \2/ TX—4692
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) LOCKING SYSTEM ———

R\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4689-92.dwg, 2.8

© 2017 R.W. BUILDING CONSULTANTS ING.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI'- DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4689-92.dwg, 3.8

CORNER PADS b2

0.75" —T—**-*

M
S|

/
Va

o

(TYP) N\

ENENWENED

NN ARNCVAC

4.56"

0.75" ﬁ

————

COMPOSITE

EEREIE

.

JAMB / HEAD JAMB / HEAD

"FusionFrame”"

1.25"

e

PINE
(1-PIECE)

SNAP-ON
CAP

LVL

[—<—>1— 0.75"
SR

N\

1.25"
JAMB

"FusionFrame”
[2-PIECE]

Prov——

2X FRAMING 2X FRAMING SNy,
— — (G>=0.42) (G >=0.42) Saint gy
r:- \ e ‘?'\.?.0". 5 § 0..‘...4;/

fLL \ "'1 RS ﬁl'i}-‘: 5§(‘)

EXT. SHEATHING /1) EXT. SHEATHING J{{ 4 e ":;s‘% ZHY
\ ‘ i \ DRYWALL \ I | T DRYWALL ?” z iS

1 : s l‘(& TR YRR P\
WOOD SCREW hl T WOOD SCREW Maasactt
1/4" MAX. /| ’:"
SHIM SPACE ™| o 1 |
nfg ~—— /4" MAX.
sE SHIM SPACE
. —=00p0co]
DOOR PANEL ~ ? DOOR PANEL
HEAD: PINE HEAD: "FusionFrame"” (1-PIECE)
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP
(QEBD/PE 650) (QEBD/PE 650)
EXTERIOR W INTERIOR EXTERIOR W INTERIOR
@gﬁfﬂ,@«g CROSS SECTION /"3 \ VERTICAL CROSS SECTION
Uiswing shown - iNswing 3 i .
NERYFIERS: N3/ Quiswing shown -nswing
0.15"
]/ " MAX. N C'SINK 1/4!1 MAX.
EXT.SHEATHING ~ SHIMSPACE (TYP.) SHIM SPACE EXT. SHEATHING
JAMB: "FusionFrame”
\ (1 OR 2-PIECE) /
JAMB: PINE \,ﬁ

2X FRAMING

(G>=0.42) \

e

AN

’/#10x24/ " PEH

WOOD SCREW
ENDURA WEATHERSTRIP  ENDURA WEATHERSTRIP

(QEBD/PE 650)
/ " EXTERIOR

#10X 2-1/2"PFH

WOOD SCREW

(QEBD/PE 650)

N

A\

2X FRAMING

/(G >=0.42)

DRYWALL/

/

#8 X 2-1/2' PFH WOOD SCREW

#8 X 3/4” PFH SMS

N\

INTERIOR

#8 X 1" PFH SMS

4" HINGE

/1" HORIZONTAL CROSS SECTION

W Inswing shown - Outswing also approved

MULITPOINT
STRIKE PLATE

\ DRYWALL

#10 X 2-1/2"PFH
WOOD SCREW

tyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 335985

Documents Prepared By

813.659.9197

Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

<
Q
B2
LS
>
<
o vy R
> = n
2 ol 2o,
& o 50
nl §O
0l Q&
< SO
T
2 [T
'...
o
& =
Q. Q.
D>
L o
L
o
o
)
O
8l
N
Sl jn
R z
L I (@)
5| 2
Elol 1@
SiF| |
5|
L
RIS
215
<
()]
S
Q <
N =
I lo
4
OATE: 4/27 /17
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4692

SHEET 3 oF 5

© zo17 R.W. BUILDING CONSULTANTS ING.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4689-92.dwg, 4.8

INTERIOR

A\ Y A\

EXTERIOR INTERIOR EXTERIOR
DOOR PANEL

r DOOR PANEL
ENDURA \

DOOR SWEEP ENDURA
(DBK-R) DOOR SWEEP
/1% [DBK-ZAC) x
\.z. _ﬁ

(aa)

AN

#10 X 2-1/2" PFH WOOD SCREW OR

00000
M

112 3)4)5

(—)
B
2y
.,_:!]

#10 X 2-1/2" PFH WOOD SCREW OR

1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION

W2

Y e

ENDURA SoET 55..6’9;'213 5% "
WEATHERSTRIP _ — DOOR PANEL LA AN L
INTERIOR EXTERIOR Sy I ".""2? I 3 Z
(QEBD/PE 650) T ENDURA 1N 8 Q %,;.‘u* :: m:_; gm ©
h - i Y 9 TR
WEATHERSTRIP_  NTERIOR m"é&% “i3 B3¢ (2 o8 g
(QEBD/PE 650) gu " 18T S R 283 3
[1;%". o o Q?n- 3 g;’g 2
s rRXI | g5e |
Maipeden™ & 9% &
O X2
K gn? o O
& 2g5 2
£ 33f %
: X B

5
PR F

8

#10 X 2-1/2" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION 7”3\ VERTICAL CROSS SECTION

#10 X 2-1/2" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR {TW CONCRETE SCREW

/ 4"\ VERTICAL CROSS SECTION

W Inswing Adjustable Threshold

w inswing Articulafing Threshold

W Outswing Bump Threshold

\U Outswing Bump Threshold

4.56"

INSWING ADJUSTABLE THRESHOLD

ZAIL4565

ZAI4565FN

6" -

| . | l | i_l l 3 :
| | 456 | , 456 | . 456 , e s |
2\ INSWING ADJUSTABLE THRESHOLD 3 ) INSWING ADJUSTABLE THRESHOLD ) INSWING ADJUSTABLE THRESHOLD 5} INSWING ADJUSTABLE THRESHOLD
ZAILAA4565 ZAIAA4565FN ZAI4565RDS

Tl AR
| 4.56" ! 456" ' ! 456" ! | 456" |

INSWING ARTICULATING THRESHOLD —\INSWING ARTICULATING THRESHOLD 5 )} INSWING ARTICULATING THRESHOLD 9"} INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
IACL4565 JACA4565FN IACLAA4565 ZACAA4565FN IAC4565RDS

| N i 4 =

LS . L2 . 1= !

— N :5 — = =

l L = |
| 456" - | 456" l | 456" | | 456" !
17) QUISWING THRESHOLD 12) OUISWING THRESHOLD 73) QUISWING THRESHOLD 72) QUISWING THRESHOLD
ZOB4545FN 1OBL4565 ZOB4565RDS FOB4566

CERTIFICATE OF REGISTRATION # F—11852

w

=

Q

S

L

wn

= "

> 5;8
o 3

= o &

] s ©

i

<

QS

5 ¢l &

= NS
o &
o <
Q. a

vtd B

L i

UPDATE TO 2018 IBC/IRC CODE

10/24/19|ADD “FusionFrame” OPTION &

NO. DATE

1

REVISIONS

DATE: 4/27/17

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4692

SHEET 4 oF 5

© 2017 R.W. BUILDING CONSULTANTS ING.



R\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4689-92.dwg, 5.8

. HEAD ANCHORS: STy 4
2,z 2X FRAMING #10 X 2-1/2" WOOD SCREW [PINE JAMB) £ * .0 '93 ST 0
06% Fo i D iy $3 o
& (BY OTHERS) #10 X 3" WOOD SCREW (1-PIECE JAMB) SaxeT iZE £ 0 gg
in O ?)ﬁ 6" Q/.o' sLIJ P %* . in Z-
3 \“ | ~ il ou gk 8y
s 9 (TYR.) wi : - .22 Z . Bu
a o fuliw w do
] : Lo o - é*
‘ W, iZ i °§ g a2 Z2
- : — v, 191 e zig 38
SEE HINGE , ? I,f\;-...,” 91 . > dge gk
T BB DETAIL 1 — ~ — . ) Qll-u,'gbf e %’05 g%
3 l e & 3 238%
e = § 95E .S
8 ! g R4 gk
— . o
5 }t— [~ JAMB ANCHORS: I : § E
@ Eﬂi{ \ #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) . E @ gg
N #10 X 3" WOOD SCREW {1-PIECE JAMB) 3 9
3 [a]
(303
5 s 4— ]
g v
SEE HINGE 2 ©
51 =
H DETAIL 2 i f S
B | SEESTRKE ™ |, 2 £ |.3
PLATE DETAIL N S |7 2
> o {TYP.) ‘ L &l w
<E B 0ol =
Y ZG ' 4 &
- A ~ Y .
B N O § 15
. [ ] =
I L, £ %
L1 X = & o [2
)\ SILL ANCHORS: 2 &
#10 X 2-1/2" PFH WOOD SCREW o
HINGE JAMB 1/4"X 2-3/4"ELCO OR STRIKE JAMB 3
FLOOR SUBSTRATE MATERIAL FRAME ANCHORING ITW CONCRETE SCREW I
CONCRETE (MIN. 3000 PSI) X zle
WOOD (G >= 0.42) £l
S| n
\ . pd
o0 O
1 e
oINt |5
JAMB NOTES: #10X 2-1/2" FH WS <-§ tlo| &
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. MULTIPOINT Bl
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. Il STRIKE PLATE [re g
CONCRETE ANCHOR NOITES: ' ’ ' 25
1. Concrete anchor locations at the cormers may be adjusted to maintain the min. <
edge distance to mortar joints. STRIKE PLATE DETAIL g "
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to 3 K
maintain the min. edge distance to mortar joints, additional concrete anchors S |2
may b ired to en the "MAX. ON CENTER" dimension are not exceeded. _1 /0" = -
y be required to ensure the / #8 X 2-1/2" PFH W3 P #8 X 2-1/2" PFH WS e
o | rE. oatE: 4/27/17
X PR s S = X IMPRHWS  #BX I PRHWS S soue  N.T.S.
e [ o His =~ #8 X 3/4" PFH WS DWG. BY: UK
’Tw [ 4“ X 4" HlNGE N 4|l X 4" H'NGE
® 1/4" .l _3/4" 1 1/2" 4n \ CHK. BY: LFS
TAPCON 1\ DRAWING NO.:
ELCO " N " " TX—4692
ULTRACON®|  1/4 1-3/ 1 4 HINGE DETAIL 1 HINGE DETAIL 2 P

© 2017 R.W. BUILDING CONSULTANTS ING.



